L ESE0T0): N rlgﬁaL

= (2021 £6 A) = MEZRUIKEAMEE

= f - DB -
XI5TEHeR
 7ip e NE (g)
CGEERD
#ER 50g
KB () 5g
ZFEH 0.3g
i 0. 28
oxERS (BUSH) == o 1o
\
oS = Az C AR
Y| an-a A 25¢
K (KRER) 50m|
s 07/ AN
721 keal | 628g AS 8g
15 0.17g
RERn =)
40.3¢g 6.8g MO BT LBk 0. 358
OIS ER o% 0.17g
3 BEMRT. KB EBEDEEAA—S | | G+ >
LELT =, 1HER 50g
1ﬁmbibf:o iﬁ 0 zg
B IORAERADLNADKD, THE LwAshagxLit
HRhDRERSL | B 1 EETHE LENY M4 HE (g)
W=t Ed, E%x g
LAY 10g
FH— DY —(FTYEHBETEHREC A Ba 5 e
. g e T
A—THEBLENYNEEFBES. €5 Li56 0 60
FUEBRALTLET,
i 0. 4g

=Lt 120m|



M1 L (EEH) 0. 4g

EhDIEHRE
M4 nE (g)
Hrp 12
1= 0.3¢
LEY 10g
L&or 3ml
XiR (85L) 20
BHECAIZRLL DD
M4 neE (g)
=t 30g
CAhlze < (B) 10g
E¥F 0. 05g
ZFil 1g
hbiE 1g
L&KW 3g
=Lt 20m|
il 2g
EhFE bg
2L BDEERBADIT
Mm% nE (g)
VEAR (3B) 40g
2 (%) 20g
Eh¥ 10g
Le3nt (B5L) 0. 5¢
18 0.4g
FEHR 2g
AN 1g
Ty 15¢g
LLED 8g
Y35 (&) 4g
L&oW 1g
HYA 1g

=Lt 20m|



AEH 1g

L% 3g
HEHRE 3g
_F
NT) AOHERET
M4 nE (g)
FINTYH 20g
BINTUH 20g
ThE 10g
i3 4g
hbiE 2. 4g
b= 0.2¢g
KRHAHD
M4 nE (g)
KR 0.8g
7K 60m|
hbiE 6g
TIFY 2. 6g
£ )—L 5g
wbaE 1g
WTHITE (&) 10g
L BAIE (R 6g
Hhad (E) 15g

RERE 3g



